=1y s} =) Q 11
ST AT MK YL HEHAR
RN LSS W (XA
sg 7(8) | am oie(s) | 4m 192() | 42 202(=) | 48 212(2)
T T PSS AEZE0E |- AHZN0Y | A8ZH0E
-gezus= ((8.13.) N P E N T
(5.) . maME ((5.6.18.) oA (1.5.6.13.16.)
- DE0ex |(1.5.6.13.) COEelYmES|(1.2.5.6.13.) |- AEO2I0IE
(5.6.7.) - BIOIZ4FIALCIOF|(1.5.6.13.) e EEIH
AZHOl [(2.5.6.10.12.13. | - XXEZH|2[(5.6.9.10.13.18.|(1.2.5.6.10. 13. 1
7 (5.6.13.) 16.18.) ol ) 5.16.18.)
I g N e I E=TP (1.2.5.6.10.13.1| - Bh= 27 AN RS
01(13.15.) (9.13.) 5.16.) (9.13.) (2.6.10.)
NESTES e VT ESTEY camEXZIOI| - thEZX
(9.13.) /99(2.5.6.13.){(9.13.) 3(1.2.5.6.13.) |(9.13.)
‘w2zgnse N EYE
(AFDH(2.) 2(2.5.6.13.)
uz
ooy | B | AY | SHI ot orer ot orer oo %o A ore
oo | gxg | /HLX
iE!

OILAXI (keal) | 767.00 | 767.00 | 7.1 677.0 829.2 696.3 698.0 661.2

4312 (g) 57.8 93.8 146.0 81.6 77.2 114.5
com(g) | 18.40 | 18.40 | 19.6 38.9 28. 1 33.6 49.0 24.5
) 22.6 15.7 14.5 24.7 22.4 2.0

BIEFRIA(R.E) | 150.00 | 217.00 | 422.3 142 5 367.0 260. 1 202.8 1,099.2

Elotei(ng) | 0.30 | 0.7 | 1.0 0.4 0.8 0.6 0.6 2.5

SR

0.3 | 040 | 1.3 0.5 2.5 1.0 1.1 1.4
(mg)

BIEreIC(ng) | 26.70 | 33.40 | 36.8 7.8 69.5 6.7 7.0 93.2
Za(ng) | 234.00 | 267.00 | 213.1 83.4 385. 1 303.0 154.9 169.2
B(ng) | 370 | 470 | 55 3.0 6.6 4.6 5.7 7.7

¥ oUuA = AFAAHF] £10%, TAH = B43FE(55-65%) - L]'“"é]w 20%) : AWH(15~30%)
% FAE AAFOIEA, Hobul, PnFeh, vec, 24, 1) T F / Avds
# Tt oYX &
- A A (keal) @ {(FHFFHF &/ AFLF) - FuAAGLE7IEF] AUA} / FuAAFLE7IES oA x 100
- AEE (R RS A x 0/ (FRF BRHE AT x O + (PR 9ud AAE x O + (FRT A QAT
x 9)} x 100
R/ L e BT 4 81D A (keal) = BESHE 4, W0 4, A okeal 2 B4
% elzs] An
1347 2.9% 3.W2 4.9F 5. 015F 6.8 7.2259 8.7 9. 4% 10. 5 A 127] o} 12.EvlE 13.0}5H% 14.35% 15.5317] 16.4]
7] 17,940 18. 2R (E, 4%, £F £ 1.2
& ALK FA|ALEOHLY
[ 4]
B8} FEX,F), SAH2(2 8 5, 2a)), 2 (3, DE012), M2 (0 X, #x7], 280, DS0f, &x|, &=, of)

- SIS E(EHX 22L& SHT=uah, Qe[0T 5 UL
- SREEIEER £E5 oo HIN

[2= 4]

— SR (8| E ot/ =48, Hef (B{Aloteh SO{Rf i Aok, ZX|(MUlZ/2l=4), ZA(STa/2l=4), JHRe| (8] =, 2{ Alot/2|

Joj7ls & (el th/ ==, DR IR IS & (=4

FE, M U /=), ER0|(E24H2 M), 27
%ﬂ-_"—‘*: AD7|(ZLUAY QZALS A E)
TAMTIEE: QLA FIO|RY (2 ZAE, ZHA|7H(CHEO]: & 2kAH, MR AE(
a 9[] BHXto], H x|, =I;=at A= siuele
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s
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HI EH), 7ot o 7tS &2l =4t



1 3 = (=} | Of IT
stugd Alls RAX HAH ALK
LRI DS D (541)
a8 172(8) | 4" 182(3) | 4” 192(%) | 4" 202(2) | 43 212(2)
HEdE=Y | 2dd=g | DedZ=g | RedE=g |- 20002/
(5.) (5.) (5.) (5.) &
CENAXWON |- BiNgEsER |- tezye |- SSWARIIZ|(1.2.6.10.12. 13,
(5.9.13.18.) JN(5.6.9.13.18.)[(1.5.16.) AHE )
ES N SUSDHSE |- F420I2E [«(9.10.13.18.) |- SRem=
sxamzy ((5.) (5.6.18.) AHASKES|(5.6.18.)
(5.6.15.) MMM QHE| - W2 DF0HSE (A (1.2.5.6.) CEECISOIHR
w2t CEAIIT0IMRA | (2)(2.) s - QelEEER |2 (5.6.)
SDIA oot jpaE2E 2L |- ARYNEDII|(1.5.6.13.16.18. |S SN
(1.5.6.) (5.6.9.10.12.17. ) (5.6.9.12.13.17.{(2.5.6.12.13.16.
- BED((9.13.) |18.) - Mesi/zel |8.) )
LEEEA NP PO coNORNN |-gsaszaa
(5.13.) 01(2.5.6.10.16.) |(1.5.6.9.12.13.) [(1.6.9.13.17.) |4AIX
RESI - 22I1(9.13.) |- HHE2 (1.2.5.6.10.16. 1
(9.13.) (9.13.) 8.)
SR STEEI
(1.2.5.6.13.16.)](9.13.)
zua
aos | BF | AB | S oores o orer oores o ores o ores
wee | gxz | /0UX
HiS
0l 4 Xl (kcal ) | 767.00 | 767.00 7.1 772.6 818.5 841.6 844.0 828.6
Et=3t=2(g) 56.1 112.4 116.9 115.8 116.8 116.5
CeE(g) | 18.40 | 18.40 | 19.1 42.3 47.1 37.7 35.2 34.8
X (g) 24.8 19.2 18.7 24.7 26.1 24.9
HIEF2IA(R.E)| 150.00 | 217.00 201.0 355.7 11.4 62.4 237.2 238.5
ElOF2! (mg) 0.30 0.37 0.5 0.4 0.8 0.2 0.4 0.5
PR
o ct 0.34 0.40 0.5 0.3 0.8 0.4 0.4 0.5
(mg)
HIEIRIC(ng) | 26.70 | 83.40 | 16.8 2.2 0.8 14.6 20. 1 16.4
25 (mg) 234.00 | 267.00 176.0 118.0 253.4 181.1 184.1 143.2
& (mg) 3.70 4.70 5.6 4.0 7.7 6.8 4.9 4.8

¥ oUA = AFEFHF £10%, FANE B35 (55-65%) ¢ @A (7-20%) © AW(15~30%)
¥ TEE AFZFAEDA, golyl, 2lrEFEl, vERIC, 24, ) @ FFdF] F / AddSs
¥ T NUARE

- YA (keal) @ {(F3+F FZ]

- ©5EE - (Y B EE
x 9)} x 100

w bl Z /A Bl E Y FAS A H 8 (1gF Ay A (keal) = BSR4, @A 4 AW 9kcal 2 FH4L)

P %}aﬂgﬂ Xgi

/ BruAA G YE7IES] A x 100
FR G AH" x o)+ (FET AT AR

A9 A 105X a7 11. 550} 12. EnE 13,0134 7 14.35F 15.9a17] 16.4]

& 2 M| FAAFEORY
(=]

- (i FER,F), S
- 821BE (x| 27|:

M= (2 HX]L L 28]), AR F,ARIHT), oS (0[R2, &), 2F0f, 10, &4, =, o)
T &, SHR7FU A, 22| AT T A
|

- SERIEER 2e8 dey YR
[2l=4H

- SXI(H E At/ 2l=4t), GEf (2{ Alotet, Sofaf:2fAlofah), Zhx| (MUl Z/2l=4t), ZAH(S=4/2(=4), JHAta| (0] =, 21 Al of/<]
=, MU EGL/=), FR0|(S=i/2=4), 2Yo7isE(Zel e/ 2l =), DXIF IS & (2=

- NS E LI (Rt AR EF )
FATIZE: 2F0{ 70| (AT M), FRIU (CHYOL: HSH), MPBAB(AS M EL) JHH0 1B 2 R
O 9] wFol, gxl, XIE, &5 e



S | o T
StgAl ATHE RAAX] L AATAlK
SN NSE R (A Al
48 172 () 48 182 (3t) 48 192 (%) 48 202(2) 48 212(3)
CFEFEEY [ FEIE=E |-dEdE=Ey [ AEIEEE | Asguge
(5.) (5.) (5.) (5.) (5.6.8.9.10.12.1
SOIURs= =R Mot EE2R | ESAIMIMK [3.17.18.)
(5.6.) (5.6.18.) (1.5.6.10.13.16.((5.9.10.13.18.) | - Ot=S = &=
CHRXRE CAMHETRE [18.) - SOHHES (5.6.18.)
-ES2U2RS|(5.) - QEOIOF 2 A [(5.6.15.) S 2MTH(13.)
=2t (5.6.10.) S EEQRIZ1II|(17.) - MB0lHE R - BHlm 2|/
St Al ofopay CINEAE (5.6.12.13.18.) |- 2HIAABEA(S(9.13.) &
(1/2)(1.2.5.6.10| - HEESRE |HI0IZ B2 X (2.5.6.10.12.13.
.12.13.) %(5.6.9.13.17.18((1.2.5.6.10.12.1{(9.13.) 15.16.18.)
N EEIby ) 3.15.16.18.) SOIUE2RET| - HEAX
(9.13.) S E=EIby B ESEIPN (1.2.5.6.10.12.1{(9.13.)
(9.13.) (9.13.) 6.) c I RIA DA
- 33| H 32040 (5.13.)
A%(1.2.5.6.)
g
sory | BE | AF | GHE @ ore @ ore Hory oy @ ores
Zez | A3z | /HUX
bl g
Ol Xl (kcal ) | 767.00 | 767.00 | -5.2 699. 1 765.8 707 .1 736.4 729.1
Et3t2(g) 60.8 110.4 114.4 99.9 114.0 99.2
CHM Rl (g) | 18.40 | 18.40 20.0 40.2 33.5 33.8 37.5 31.7
Xle(g) 19.3 10.0 21.2 19.8 15.4 9.3
HIEFRIA(R.E) | 150.00 | 217.00 | 164.1 89.0 293.0 67.5 151.1 220.1
ElOF2I(mg) | 0.30 0.37 0.6 0.7 0.6 0.3 0.5 0.7
SZetyl
clzsct 0.34 0.40 0.4 0.5 0.4 0.2 0.5 0.6
(mg)
HIEFRIC(mg) | 26.70 | 33.40 17.6 6.0 13.6 1.2 13.6 43.7
2t&5(mg) | 234.00 | 267.00 | 153.4 239.3 154.8 84.2 139.0 149.9
& (mg) 3.70 4.70 3.9 3.1 5.7 2.3 3.4 4.8
# olUA = AARAZ] £10%, A= &5 51 (55~65%) L}Hﬂé(? 20%) : A% (15~30%)
Tt AF O ERYIA, EM‘“], g, HEeIc, Ze, ) @ FUHdLEE] &/ Aads
¥ FHA ANUABE
- oldA (keal) @ {(FHGLdLe] F / Ads) - StuAAGL7IEF e AUA) / staAA 79 dvA x 100
- g@stE 0 (YT BesE *é.ﬂ Fx4) / AFHT S5sE AFAF x4 + (FEy @9 A F x4 + (FEHT AW AHZF
x 9)} x 100
= gl /2 Besl B FAe Ak H8(1g9 olUA (keal)E BSHE 4, A 4, AW 9kcal 2 B4
* dH27] AR
Lo 2,95 3.0 4,93 5. 0% 6.7 7.3150] 8./ 9. 4% 1054 27] 11. <o} 12, EvkE 13.0}8414F 14. 85 15.91L7] 16.4]
17] 17.940] 18.ZMF(F, AE, 3 x3) 19.3
& 20X EA|AlEHORY
[Zui &)
- 2 FEX,F), S (L =X H,22]), AR (W F,DRIMF), SO FReX], =7, 270, 1350, &%, d5, o)
- FIIEFE(EHX 27 =&, ST U A 22|07 = o
- FERIBER S58 ofR HIY

EEN

— LER|(H S EHA/2I R ), Fef (214 OFAH, BO{ 21 AloF41)
T, AP AHH| E A 2 A,

_Al.gfj},

frn = )

o= _I__I_

- IS E R

0 2] MEo, 9=,

30| (5
R [EN PR EINE RN
A of 70| 7 (2] 244), EH| 2

xugeh 2= sl el
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, =

t|-|| ELI-) 7|,|_—_|.E|-o.|7|._T'_A-L Q|§A|.

R (MU Z/2l=4h, ZA(STLY A=), 7HAte| (o] =, 2{Alot/ 2
L/ R= M), LYot E(H e &/ 2l FLh, ARIIZIIS E(2 =



